
TaPI	:	transports	en	commun	ou	voiture	?	
	
Deux	étudiants	habitent	Colmar	et	doivent	se	rendre	à	Strasbourg	pour	un	stage.		
Le	stage	commence	à	10h	du	matin.		
	

• Marc	prend	le	bus	puis	le	train.	Il	habite	à	côté	de	l'arrêt	de	bus	"Europe".	Le	ticket	de	bus	
coûte	1,80€	et	le	billet	de	train	10,70€	mais	il	ne	paye	que	50%	du	prix	pour	le	train	grâce	
à	sa	carte	de	réduction	pour	les	jeunes.	

• Julie	prend	sa	voiture.	Elle	doit	parcourir	70	km	jusqu'à	Strasbourg	à	une	vitesse	moyenne	
de	100	km/h	mais	elle	perdra	20	minutes	dans	les	bouchons	avant	d'arriver.	Elle	paiera	
aussi	2€	pour	le	stationnement	en	ville.		

	
A	l'aide	des	documents,	comparer	ces	deux	modes	de	transport:		
	 la	durée	du	trajet	et	le	coût	du	trajet	du	domicile	à	Strasbourg.		
Vous	rédigerez	votre	réponse	et	justifierez	à	l'aide	de	calculs.		
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